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:N2VAT PNOND AR DMLY ARa kT |
.
+y +z +w =0

-y +z —-w =4
+2y +4z +2w =4

+3y +9Z +3w =4

MRNYNN NN DY 555N 1IN .2
X, +2X, +3%;, +4X, =5
6X, +7X, +8%, +9x, =10
11X +17x%, + 23X, + 29X, =35

MNXNVNN NIOWN DY 550N PNINN .3
X; —2X, + X3 +2X, =1
2X; —4X, + X, +5X, =5
3X, —6X, +2X, +7X, =6
7%, —14x, +5X; +16x, =13

MNXNWNN NN DWW HOD50N NINON .4
6X, +4X, +5X;, +2X, =6
3X +2X, + 4%, +X, =9
3X, +2X, — 2%, + X, =15
9x, +6X, +9X; +3%, =15



NIXIYNN NDWn 7w 2200 nnon .5
X, +2X, =3X; + X, —2X; =7
2%, +5X, —6X, +2X, + 7X; =50
—5X; —4X, +15%X, —5X, + 9%, =-15

MRNYNN NN DY IHHON NININ .6
X, +2X, +3X; +4x%, =30
4%, 43X, + 2%, + X, =20
X, =Xy + X — X, =—2
X, +3X, + X +3X, =22

MXNVNN NIOWN DY HID50N NN .7
X, +2X, +3X; —2X, =1
2%, +4X, + 2%, —3X, =1
3X, +6X, +5%X, —4x, =1

7NDY IR2T NOWN2 1VI7.8

X+y+22=5
2X+3y+5z=11
3X+4y+5z=12

: IX2T NOwRavaT .9

X—y+z=4
2X—-3y+z=1
4x—-5y+3z=9



INDY IR N2Yna van (10

X—y+z=3
3x—4y+5z=11
SX—6y+7z=17

7NDY AIR2T NOYn2 vaa.l1

X+y+2z=4
2Xx+3y+5z=10
3X+4y+5z2=12

: INDY AR NIYNRa VAT 12

X-y+z=4
2X-3y+z=-1
4x—-5y+3z=17

9N AX27 N>Yna vaa .13

X—y+2=3
3x-4y+5z=10
5X—-06y+72=16



7N9Y IXAT NOYna van .14

X+2y+3z=9
3X+7y+12z2 =32
6x+14y+24z =64

7N9Y ARAT NOYN2 VAT .15

X+2y+32=9
3X+7y+122 =32
6X+14y+23z =63

7IND7 IR NDYN2 VAT .16

X+2y+3z=15
3X+7y+12z =56
6x+14y+z =43

X277 NovRa van .17

X+3y+4z=8
3X+6y+3z=12
6Xx+15y+15z2 =36



TN XA NOWNA VAT .18

X+3y+4z=38
3X+6y+3z=12
6x+15y+152=34

(t+2-s-2ts) tse® .l DNI2WNH
(s+t-1,4-2s-3t,s,t) t,seR 2

(2s—-3t+4,s5t-31t) t,s en.3

(—Es—lt—z,s,m) t,seR A
3 3 3
(tos+22 20 ¢ 190y s cm
67 67 67

5
(t-3-t+6-t+7,t) tek .0
(2t-1t0-1) tew ./

2-12) .8
(2t+1L-t+7,t) tew .9
t+12t-21) tew .10
ay .11
(2t+13-t+21) tew .12
@t-1t+2t) tew .13
Gt-1-3t+51) ten .14
22y .15

223 .16
Gt—4-3t+41) tew .17
1Mo PR .18



